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= Instructions to the candidates :

mmmﬁwmqﬁw-ﬂmﬂmwmﬁmhﬁmwtgw
FTR-YRE IR B TEE |

This question paper consists of Part-A and Part-B. Each part carries 150 marks. For each
Part-A and B separate Answer Book is provided.

1. mwﬁwtﬁﬂWhWHﬁ%mﬂmtlmmnm
03 3 siaf® e § | ve= wAE 02 ¥ v 100 & Te1 WeA BAE 03 H TR
AT 00 E |

Each part of this question paper consists of 03 questions. AN questions are

compulsory. Question Nos. 02 and 03 have an internal choice. For Question No. 02

word limit is 100 words and for Question No. 03 word limit is 300 words.
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2. Wl & S g ATed # R W iRy e wae e area-a A e g
farit s wmew & forg T TR W B1E Jiw e e | et 03 we Fee afE
& | W¥9-U5 & ST 61 WEA & 9T HHIEN &, U 6 WeE & i wl & e
srfard w0 9§ v e € fomd o ey I Ay o wee % 9w A o I |

Tt ¥ W Hegerey €1 Sudn # foran o ween &, wefefe 9 |
Answers should be written in the medium which you have opted in your

Application Form. No marks will be awarded, if the answer is written in any other
medium. AN the three questions must be answered. Question should be answered
exactly in order in which they appear in the question paper. Answers to the various
parts of the same question should be written together compulsorily and answers of
other question should not be inserted between them. Simple calculator alone can be
used in the exam, not the Scientific one.

3. WUH W Y I &, R 18 sifrard wee € | 9l o 9 e e g ufeat

A
The first question is of short answer type consisting of 15 compulsory questions.

Each one is to be answered in one or fwo lines.

4. OE! YT WO ST TTE & W a9y et By |
Wherever word limit has been given, it must be adhered to.

5. afy e we A el v @ BT EU T s TR S e, A uE &
Tor<it v SiUelt WuiawoT H 9 3ol Wi ATE /A SR
In case there is any error of printing or factual nature, then out of the Hindi and
English versions of the question, the English version will be treated as standard.
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Part-A

1, PrafafEs w v o) 9iEmar § o fafla

Write one or two sentences on the following :

(A) & e gd ST
Argon gas and its uses

(B) O - BHETATS!
Gel - Chromatography

(C) T - HTows Fufer
Russel - Saunder’s Coupling

(D) JTgHET

Isobars

() fEw-wam
Double Salts

(F) H=1-ZeraArol

Nano-technology

a4 SIS 1INV

15%3 =45
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M) SrezTei=iome
U]tl'asmqmphy
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Ny 4 (g )
4G (Fourth Generation)

(0) 98
Weight

Frefafie 9 Frest 10 WeT % IO ST 100 =T H €T 10 % 6 = 60
Answer any 10 questions in about 100 words from the following :
(A) s wufy aRer =

What is Intellectual Property Right ?

(B) WaTel Seui €4S (LED) 1 WHIATEY |

Explain Light Emitting Diode (LED).

(C) §-3ary Fa R

What is e-waste management ?

(D) @-H1 (EL-Nino) ¥ & ?

What is EL-Nino ?

(E) TO-HTH Sl dUI B ?

What is bio-mass energy ?

M-2015-111 P.T.O.



(F) Sierarg qftees v e i &g Wt srfe St |
Give Indian response to climatic change and global warming.

(@) ﬁﬁmﬁaﬁmmqﬁmﬁﬁmmaﬁaﬁmmh

What is the role of Na* ion and K* ion in biclogical system ?

(H) qﬂaﬁrﬁmmﬁa@mmﬁmmaﬁﬁMW|

Discuss total internal reflection and its practical applications,

(M mﬂ?ﬁmﬁmaﬂﬁg&?ﬁa‘r&mﬁ’fﬁm&ﬁﬁmﬁmﬂl

Explain in brief about prokaryotic and eukaryotic cells.

(I aﬂﬁﬂammfﬁmﬁmwwmaﬂmﬁm
Explain Ozone layer depletion and its effects.

(K) T &% 91 e 176400 & | 299 5% e &% ¥ gfeg ereft & 1 2 o
1S TV @1 e e gt g

The population of a town is 176400. There is increase in it at the rate of
3% annually. What will be the population of the town after two years ?

M-2015-1I1
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(L) it et & 5% @i ov & 3 o & wwafis @ aen wEo =T §
TR 61 T8, T T7 F1d AT |

The difference in compound and simple interest of any amount of money
of 3 years at the annual rate of 5% is ¥ 61. Find the principle amount.

Frafafes wel § & e et S sew T 00 T S R0, 3x15=45
Answer any three of the following questions in about 300 words each :
(A) waiavor Ewemr ¥ ety e # gt 5 g |

Explain the role of sustainable development in environment protection.

(B) wrfs Td anffes R & e 7 aodet & syt & f&e
HIFAT |

Discuss applications of science and technology in social and economic
development.

(C) & & Rt sl (qateife W) vd 9= S fafa |
Write down the different allotropic forms of carbon and their uses.

(D) TS HATAGN e 13.5 WX o oy 2.5 Hiex dter & | oo e
ITIATHR P (5 Hew X 4.5 #ew x 2,1 e @ ™ &, 5w A
el 78 Pt 3 wire & 9 9 weE e S Rem T we S
ENTETe B ST A afe Frerfery |
A rectangular plot is of length of 13.5 metre and breadth of 2.5 metre. A
rectangular tank (5 metre x 4.5 metre x 2.1 metre) is dug in it. The soil

taken out from it is spread uniformly in the remaining part of the plot.
Find increase in the height of the surface of plot.
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¢mﬁw&ﬁaﬁﬁmwﬁﬁ=ﬁﬂhﬂaﬁaﬁwmmﬁ,
msmﬁaﬂnwmmmmmﬁﬁ#wmm
fuﬂmﬁw&m}ﬁ;ﬂ#ﬂw#gﬂﬁﬁ?

4nwnand6womcnjoinﬂ}rmcumplmanywarkin3days, while

3 men and 7 women jointly can complete this work in 10 days. 10
women will complete this work in how many days ?
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Part-B

1. e o ve a1 9 dffrai o oo fafag

Write one or two sentences on the following :

(&) T srsmTen guwE
Gender inequality index

(B) argfera ardy ama
Unreported illegal income

(C) HogHm
Reserve Money

(D) sfim &= o
Lead Bank Scheme

(E) wedftewo
Urbanisation

(F) 3mar wferemg=s
Import Substitution

(G) forw= u/a/ = uas
Kissan Credit Cards
M-2015-I11
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@H) fafyEs

Disinvestment

I HA-RTR

Under-employment

@) e e gEee
Human Development Index

(K) griEe 98

Buffer Stock

(L) SEH"
Retail Loans

(M) s =g

Social Justice

Ny fafee snfemawn
Mixed Economy

(0) aftrfoas 73
Commercial Paper

M-2015-111
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1

Frifermae st & e o 100 ==} # Hifery . 10x6 =60
Answer the following questions in about 100 words each :

(A) ﬂﬁﬁhﬁﬂﬁfﬁﬁﬁﬁﬁnﬂﬁﬁaﬁﬁmr

State the characteristics of under-developed countries,
HEATOR

Wﬂﬁqmmmﬁqmwmmﬁﬂl
Write brief on GDP & NDP,

(B) wﬁmﬁﬁmﬁmwmmf?wwﬂamﬁrﬁﬁrmﬁiﬁﬁ

W#Waﬁwﬁqﬂwﬁrmﬁlmmﬁﬁm
T YAE § w9

Discuss the nature and causes of poverty in India, What measures can
You suggest to deal with thijs problem ?

(C) Waﬁﬂﬂmﬁamﬂanﬁaﬁﬁmmﬁrﬁw{waﬂﬁ

Discuss the main elements of New Economic Policy of India, Evaluate
its impact on industrial development during the last 10 years,

"m H'm P q.Tt 0-



12

(D) mmﬁqﬁﬁﬁﬁmw&aﬁmﬁﬁmaﬁl
Discuss the role of co-operative movements in the growth of Madhya

Pradesh.

ZREVOR
mﬁﬂ#ﬁmﬁmﬁmmmaﬂaﬁmwﬂm
Foord oY |

Discuss the latest steps taken by M.P. Govt. for the development of the
state.

(E) mﬁﬂﬁﬁrﬁﬁﬁmﬁﬁ#ﬂmﬁsma‘rm1

State the importance of rail transport in the economic development of
Madhya Pradesh.

SEOR
mﬁﬂﬁéﬁﬁﬁ&a#ﬁﬁmﬂmwﬁn

Write a brief note on development of Telecom in Madhya Pradesh.

(F) lwlﬁWﬂimmﬁwwmﬂmﬁmm
¥ | g e o @ i T g & e ?

Discuss the steps taken by Govt. of India towards globalisation since
1991. What further measures you would like to suggest in this regard 7

FUEOR

ﬂﬁﬁﬁuﬁwﬁwﬂaﬁmﬂtﬁlﬁm%ﬂm%ﬁﬁ
ré e @ wdE SR S A |

Examine the problem of rural unemployment in India. Briefly review the
policies initiated to solve this problem.

M-2015-111
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(G) SGSY v dftre feaft ¢ |
Write a brief note on SGSY.

HUEI/OR

MGNREGA & fwg & g =1 o9t € 2 onfor it 51 woren

A 4 U8 fra erA BT qE £ 0

What do you know about MGNREGA 7 How far it has succeeded in
solving the problem of rural poor ?

(H) SEBI &1 &Tdwomeit ¥ wfére feumeft ¥ |
Write brief note on working of SEBI.

SEVOR

UF 99 & N1l fRema § o= Ao @ qimrwn g o

What is the role of Public Finance in the economic development of the
country.

M wra ¥ anfdrs R i g ammar % &= s § 2 g 59
WAt & W & e wn g E e

State the causes of economic backwardness and regional imbalances in
India. What measures would you like to suggest to solve this problem ?

M-2015-IN1 P.T.O.
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() FErE AR frofeeo @) aRwfie S 11991 B A F =%
HTEETR %7 O BN |
Define Liberalization and Privatization. Discuss the provision taken in
New Industrial Policy 1991.
FUIVOR
g e S R T g & 2 2 A e i |
Define free trade and protection trade ? Distinguish between the two.

Frmfoias wet &1 g% @ 300 o # <Y 3x15=45
Answer the following questions in about 300 words :

(A) FETEY fawre o & 7 9 § gt e | W B e e E
GHECIEIE A

What is inclusive growth ? How it has helped in poverty reduction of the
country 7

(B) #ea wEw @1 siaawn ¥ off @ w0 4Ew § 1 i & F wegs
ardemeT ¥ o1 Nt §
Discuss the importance of agriculture in economy of Madhya Pradesh.
What is the problem of direct subsidy for agriculture ?

HOTOR
i Bie A Hift @ qeaieT Y | 7e vR § 56w &
fom gema < |
Critically examine national skill development policy. Suggest some
measures to implement this in M.P.

1-2015-I11
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Tl & T & ? WNe GYDIR G GG H 56 WA D) B F F
fov e wEw geg U # -
What is Black Money 7 Discuss recent steps undertaken by Government
of India to curb this problem.

HYG/OR
mmﬁmﬁﬁﬁmwmmmj
Chiﬁmllyexnminerhereceutmmufca;dtﬂmarketinh!adhya
Pradesh.



